Optoelectronics Lab

Series & Parallel Resistors
Thevenin’s Theorem
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Series Resistors
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Voltage Division

vV, = Rii, i Ve
R +R, +R,
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Parallel Resistors




Current Division
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Thevenin’s Theorem
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FIGURE 5.4-2 (a) A circuit partitioned into two parts: circuit A
and circuit B. (b) Replacing circuit A by its Thévenin equivalent
circuit.
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FIGURE 5.4-3 The Thévenin equivalent circuit involves three
parameters: (a) the open-circuit voltage, v,., (b) the short-circuit
current, i,., and (¢) the Thévenin resistance, R,.

The open-circuit voltage, v,., the short-circuit current, i, and the Thévenin resistance, R,, are
related by the equation

Voc = Rilsc (54'2)
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Lab Circuit 2
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